4.

(4 gdmE
(5) Wﬁémama

fre® 9 T
o s (a1 T
2 LT
ST 8 ?
: aiiareh
(1) s & e iR wEe

(2) s R 3%

(3) S qE PN

(5) mqﬁﬁwﬁ

5. P g 4 4, Sfensi B w1 e 2
qTeT JfW 29 HIA-TT o7 ?

(1) =M

(2) uIfEaH
(3) Tfage!
(4) GFEl 3"

(5) 3T FE 291 9IRS

a9 1960 § oA 3N WEWTY AHE @ AU TS
G H & fou fafofas 58 fraasg =1 31 v
H gier ™ 941 ?

(1) =i
(2)  EHCETE
(3) 2uq
(4) AT

(5) IH @ 1 9rEd

Which among the following countries ranked the

highest on the “Ease of Doing Business” Index in
20217

(1)  India
(2)  China

(3)  New Zealand
(4) Portuga)

(56)  Not attem pted

With whom is the Cash Reserve Ratio (CRR)
kept ?

Comptroller and Auditor General of India
(2)  Reserveé Bank of India

(3) International Monetary Fund

(4)  Finance Commission of India

(5)  Not attempted

Among the following countries, which was the

last country to give voting rights to women ?
(1) China

(2) Pakistan

(3)  Mexico

(4) Saudi Arabia

(5)  Not attempted

Which among the following States in 1960 was
bifurcated to create two new States of Gujarat

and Maharashtra ?
(1)  Bombay

(2) Abmedabad
(3) Daman

(4) Nagpur

(5) Not attempted
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6.

&; mﬁmamﬁwmm, 2005 &

e 9, PR % & W s a4
(1) “mﬁmm@ﬁﬂmmm
Waﬁﬂ‘g(ma;mg|

@ ““ﬁ'ﬁ“?ﬁhﬁ*wﬁmmm

3 “maﬁ*mﬁMﬁmm@
. YR OHaT R |

(4) Rﬂﬁﬁmﬁqxﬁwﬁaﬁﬁmm@m
T R |

(5) I FE T ==Y

freffes & @ svad =y dfgum &
TS § 424 g9ivE g 1976 % S 7w 3 7

(a) HHEETE

(b) WA

(c) ErhaaTcHS®

(d) vafmae

= fow T g2 @ WA fawes =1 == i
(1) %3 (b)

(2) (a)T= (c)

(3) (c)da1 (b)

(4) (a)T91 (d)

(5) IR AE A =R

v wEEm dned  (wmdte.) wem T %
stfires St & 23 faarar, 2022 #1 99w 21 arefl
o0t daw Fal sEtaa i 7 off ?

(1) 2

(2) dmHg

(3) &

(4) I

(5) I ALl g =Ed

Which among the following statements is not

ot with regard to the Protection of Women
ﬂ'oc m Domestic Violence Act, 2005 ?

1) The Act protects women from both physical
and verbal abuse.

(2) The Act does not extend to ‘live..in-
relationships and only covers marital
households.

(3) Economic abuse is considered a form of

domestic violence under the Act.

(4) Sexual abuse is considered a form of
domestic violence under the Act.

(5) Not attempted

Which of the following word/s was/were added to
the Preamble of the Indian Constitution in 1976
through the 4224 Amendment ?

(a) Socialist
(b) Sovereign
(c) Democratic
(d) Secular

Choose the correct option from the codes given
below :

(1) Only (b)

(2) (a)and (c)

(3) (c)and (b)

(4) (a)and (d)

(5)  Not attempted

Where was the 20th
Prosecutors-General of the

meeting of

Shanghai
Cooperation Organisation (SCO) Member States
held on 237 September, 2022 ?

(1) Tokyo

(2) Tashkent

(3) Kiev

(4) Astana

(5) Not attempted
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e |

% 8. i
. ‘ . 202" & fra-aeg 7 R ] ;\:)};azt?ls the theme of the ‘World Ozone Day’
D) “Raf WRrwe @ 36 : A FET F (1) “Rj '. |
N io PT‘.otocol @ 36 : Global Cooperation for
?‘fﬁ?ﬁ g . o otection of o0zone”
(2) ‘Wlﬁfﬁzﬁ?ﬁ ¥ o E ﬁi‘q ;;|||§!15| ) (2) “Montreal PrOtOCO[ fi P i
‘ | Sk i or rotection of
(3)  “Wifas Widwia @ 35 : gedt W A1 Ecology
fre A (3)  “Montreal Protocol @ 35 :  Global |
o afsas f'sd@[‘ I30 : F— %m aﬁ?ﬁn .(‘loope-ratlon Protecting Life on Earth” |
fesh ’Si‘lélﬂila St (4)  “Delhj Protocol @ 39 ¢ Protection of Life

through Global Cooperation”
(5)  3IW & 21 =rEq (5)  Not attempted

N 5 R 5 Y &
" i chs KHpI : aﬂ;i Sﬁﬂ?’;) A 9. An object travels 9 metres in 3 seconds and then
23 i EURRIE G ISR T another 23 metres in 5 seconds. What is the

Bhft 7 average speed of the object ?
(1) 3+t vy gz (1) 3m/s ’b“& )
: (2) 4 m/s § ('}}5
(2) 44 vfq ase
. 3) H5mss / /<
(3) srﬁagﬁﬁﬁ‘ @ Emk S
(4) 6 ufy g (5)  Not attempted
(5) I T < g 10.  Which of the following statements is/are correct
10. ufiss afew & ar § fisfafag 4 & T/ o about Apieal Meristem ?
TE 23 0 (a)" It is present at the growing tips of stems
: and roots and increases the length of the

(@) mﬁwa@%m@ﬁﬁmm%aﬁtaﬁ stem and the root,

A1 T H TR Bl AT R | (b Due to this the girth of the stem or root
(b) wﬁméaﬁawa@w%m% [ increases.
(©) I FB Uiyl § iz (ATE) % 99 g/ 2 (¢) It is seen in some plants and located near

- the node.

A few m Fe ¥ T foped &1 o Iy Choose the correct option from the codes given
(1) (a)dYl (b) below :
(2) (b)) 4> (¢) (1) (a)and (b) |
(3)  Fad (a) (2)  (b)and (c) !
(4) aﬁa{(‘) (3)  Only (a)

(4)  Only (e)

(5) I 8T 21 =g (5) Not attempted

= ﬁgﬁt{a . E:-aa;mﬂa"tﬁ ik {HWTTPS) AT ! > b 11. HTTPS is an acronym for , which should
SIS SR S0 P be used while entering sensitive information.
ar%q | (1)  Hyper Text Transfer Protocol Secure
(1) FFIW 2 RIHL WIETHTe §FIN (2)  Hyper Text Transmission Pr(ftoc.'OI Secure 1
(2) FHEW SRL IEMYE gitaia awin (3) Hyper Text Transmission  Protoco
(3) EREW ¢HL JTHMYE Yrorwid diea-d Sequence

REIEL ST GIeTehier Hied—d (4) Hyper Text Transfer Protocol Sequence
N (5) Not attempted
(5) I AR g1 AT

ARAM/A3/Page 4
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| pefifas & & f5e famey § fg
: : fm
= mﬂ a1 I i (3"3?'-32 T 12. Wwhich of the following options lists

) %
T 3m L& used for output from a computer ?

T

devices

fg (1) @ fig, awﬁaa;aa;};aﬁa
,u ) @ e, saae ﬁl’(, - : (1) Laser printer, Optical character reader,
@ 3R T wh, e fi Plotter o
e e » Wi (2) Laser printer, Inkjet printer, Scanner
(4) ﬁ':ﬁ, 13-]'["2'{, m . -
(5) I s L= (3) LED display monitor, Inkjet printer, Plotter ;
| (4) Flat panel display, Plotter, Barcode scanner
: ttempted
18. Wﬂ' ﬁ -a Eﬁ"h (5) Nota P

qd1 (@“) IEEaG o 2 ain 4 U Afera 3 a_@: ;ﬁ: 13. Which of the following network device extracts

Yhe =+ FE W Hm 3 Fas ﬁlu’lﬂa ot the destination address from the data packet and

fore 99 2 9 looks it up in a table to see where to send the
1) = packet and sends signals only to selected
' devices ?
2) fe=
(1) Hub
(3) w4
o (2)  Switch
(4) Ted
(3)  Router.
(5) I AF <A1 =R
Rl (4) Gateway

(5) < Not attempted
14. 39 \ifon avan e wfmn % am @0 2 5 i
$ 4 —,ig U gl 1 GTS FE 30 I FWH T AW 14. What is the name of the sorting method that

5 i et & 9 refers to sorting a given list of elements and
T R swapping them if they are unordered ?

(1) foerem ?Té (1) Selection Sort
(2) Wh_mé (2) Insertion Sort
(3) @& Hie (3) Bubble Sort
(4) _Eﬁﬂ (%Eﬁ) (4) Deque

(5) I FF 2 A1Ed
(5) Not attempted
Crfefga @ @ F9-8 gia aih nfafafys % |15. Which of the following lakes is the result of

R
qfroTEaEY 3694, 73 7 tectonic activity ?
(1) Sambhar Lake

15.

(1) @ e

; - (2) Chilika Lake
(9) fafa :

N— (3) Wular Lake
3) 49

; e i (4) Kolleru Lake
(4) hIcAE

A : (5) Not attempted
(5) 39 AE o1 =Ted
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16. @@Wﬂwmwgﬂ 4 “D
L ﬁquﬁmmﬂ \ o '(_.-,
(1) WyXe:YrZs ég,‘; \L;,‘a‘-‘é
2 Pxé Qq7: Rig S19 \x%}: {
(3 M;; Nyp: 03P ‘é ;’a
4) GysHe:l17J18 /g_:;ﬁb
(5) IR A€ & TEd

17. ¥ w@ free w1 v Hifwg frad AR A 0

16.

Choose the correct option in which two terms of

the‘ Pair are related in the same way as in the
pair given below :

Plﬁ Ql'i‘ : RIB Sl!)
M)} Nyp: 03Py,
Gis Hyg: Ii7 d3g

(1)
(2)
(3)
(4)

(5) Not attempted

¥ 3t v @ geafva 8@ @ 6 FT T 9B g & [17. Choose_ the correct alternative which is related to
b the third term in the same way as the second
de - e - e <2 term is related to the first term :
(1) Hew F1 w= Sheep : Lamb : : Butterfly : ?
(2) @Rar (1) Tadpole
= (2) Larva
7 A (3 Caterpillar
(4) ' (4) Nymph
6 TR (5)  Not attempted
e R IR e 18.  Find the odd one out.
(1) CARE (1) CARE
@’ PALE (2) PALE
(3) STAR (3) STAR
(4) ZERO (4) ZERO
(5) I A& 21 TR (5) Not attempted
19. UH T AT H 999 HITA0 fTHh FTER Herdt 19. lSetl:;a{:t the combi;lation ot('i‘nu;nbers.]j,o :::;thz
% & etters arranged accordin wi
afeed fu T § ues gl e S =T I T _ g gly
meaningful word :
N T E_RLZ0%M N T E R O W
1 2 348 6 . 18 §4 5 &
: : M €
(1 2,5,631,4 T0O o o B B8
4
@ BazLes RET 2 6.3.2,1.4,5
R
W3r 6,8,1,25,4 nEnT ® (3) 6,3,1,25,4
54,3,2,1
(4) 6,5,4,3,2,1 poRETH (4 6,
o 3 - (5) Not attempted
(5) I o1 =Ted
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i £ S T F LT w0, “an 3
20- W@gsﬁiﬁﬁflﬂ‘lm#vﬁrvﬁﬂt”!mm

of
e
T el
@
3 areft

(4) 81
(5) I TE & e

/ 21. peaffag i a s i ?
] 6,918
@ 714,21
(3) 8,16,24

(4) 9, 18,27
(5) I A &A1 ITEd

22. ?ﬁ?mﬁ%%ﬁ?ﬁ?ﬁEﬁéﬁﬂQ%‘lW:m
qedt & fir g1 g it el H wed WA g A Bl
Hifyw fs afdes =9 3 sR-aA feed fig e wo
& frepera/fieed 2 |
Fo7: TS A pAl 8 |

Fo Hgr gem 2 |

auft g F 2 |
ey () F9 FHCAA 8 |

(1) o Ft Hea e |

(1) o gem i 2 |
(1) Fae 13 11 Fwed 2 |
(9) ae 13 11 feherd 2 |
(3) aet 11 3 111 Fserd 2 |
JA) WIIW?I

(5) 3 ﬁaiﬂ d 3{1

!0.

22.

Pointing out to a lady, Raja said, “She is the ;

daughter of the woman who is the mother of th

husband of my mother”. Who is the lady to Raj i
ja ?

(1) Aunt M“D ]
(2) Daughter Vs >
/

(3) Sister-in-law
(4) Sister
(5) Not attempted

Find the odd one out.
(1) 6,9,18

(2) 7,14,21

(3) 8,16,24

(4) 9,18,27

(5) Not attempted

Three statements are followed by three
conelusions. Take the statements to be true even
if they seem to be at variance from the commonly
known facts. Decide which of the given
conclusions logically follow(s) from the given

statements.

Statements :  Some tables are chairs.
?t Some chairs are beds.

All beds are rooms.

Conclusions : (1) Some rooms are tables.
(I)  Some rooms are chairs.
(II1) Some beds are chairs.

(1) Only I and III follow.

(2) OnlylandIl follow.

(3) Only II and III follow.

(4) Only 1II follows.

(5) Not attempted

TF T & e T SPACE FOR ROUGH WORK
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25.

ARAM/A3/Page 8

(4) 42
(5) m:ﬁﬁéﬂ?ﬁa

24. 5 s fe Qs T
e U 8 -
(1 mﬁﬁﬁ%mméﬂl

2 W%Wmmﬁmmww

du F@ ®, @ 3y

T

(3) 1 a1 iR T A Sfad H IAATA H AR
el

(4) W UH TH G g TIE WOYEH W S
FA N '

(5) I AR A e 95.

qte =afs U i 8 3 fEe i ST HE i 93 '

§ | gt GEa ¥ Ushen gl 3R 3 R | FAA T F

T a1 2 W1 faeHa aEl AT PR W &3 ® U1 A

e F T T8 481 2 | T & @y B 643 B2

(1) =HA 3 am

(2) UHSA 3N HAA .

(4) T R AW

(5) I AE &A1 AT

Erafefiga G @l § 5 fas (7) % T W 26.

FA-41 F@E Jw 2 12S
14719, 35,59, _2 , 179,299 IR
Fﬁ"%"’r‘f J» 80 ."’T g (? zﬁ'i-

gy 18 - 1

19§91

(2) 130

@ 152

(4) 129

(5) 3L A1 ATEd

23.

24,

What will come in place of the question mark (?) | ¢
\

in the following number series ? |

99, 80, 63, _? , 35,24, 15,8,3,0
(1) 38
(2) 58
(3) 48
(4) 42
(5) Not attempted

When you visit any historical place, you try to :

(1) just enjoy with your friends.

(2)  explore the cultural or social aspect of the
design.

(3) take pictures-and emjoy a break from a
monotonous life.

(4) just pass time moving from one place to
another.

(5) Not attempted

Five persons are sitting in a row facing North.
Sunita is sitting to the immediate right of
Pankaj. Kamal is sitting next to Raja who is
sitting on the extreme left and Tara is not sitting
next to Kamal. Who are sitting adjacent to

Sunita ?

(1) Kamal and Tara

(2) Pankaj and Kamal —‘l»/

(3) Pankaj and Tara -

(4) Raja and Tara ot ,,:,:T'P;Sﬁ';: J'nj
(5) Not attempted

dnE )
What will come in place of the question mark (?)
in the following numerical series ?

14, 19, 35,59, _2_, 179, 299

(1) 131 . :
) 6 ‘

(2) 130 = '

(3) 132

(4) 129

(5)

% @74 % 70 ToT | SPACE FOR ROUGH WORK



29. ﬁmﬁﬁaawﬁﬁazmaﬁwﬁm@%qm%;

30.

g8. TH T ITF P Q VN T 5 sromarem w2

b 1793
(2) 1973
(3) 1925
(4) 1937
(5) I & 21 9rEd

;ﬂaﬁqmﬁ%mﬁﬁmﬁmmm
g7 aﬁﬁaﬁmmt{l

CONSOLIDATE
(1) NASAL
(2 LOCAL
3 LENTIL
| DETAIL
(5) I TE A1 ==

ﬁﬁm%lﬁ‘Q‘ﬁ‘R’ﬁB&m_mQam
:R-a‘s’mzw-wm%aﬁﬁmmélaa
PR S T frr w2 % A s 2 0 |

(1 10
(2 20
W 30
(4) 16
(5) I & 21 9rEd

B&n ’E X
E=E
HUH TR A o R f frefafes § @ e
fa®ed ‘EMRS’ %1 @&l eag =9 2 |

P‘M R|S | T

4}7935

afe forefl e 9o § MANGO i 13114715 & 9 ¥
Feag fan sl 2, @ 35 Fe ww § FIGHT i fohd

TR § Feag fea smom 2

27. Pind out the word which can be formed by using

28.

29.

30.

the letters of the given word.
CONSOLIDATE

NASAL
LOCAL
LENTIL
DETAIL

Not attempted

(1)
(2)
(3)
(4)
(5)

A bus driver knows five different routes from a
place ‘P’ to ‘Q’. From ‘Q to ‘R’ he knows three
different routes and from ‘R’ to ‘S’ he knows two
different routes. How many routes does he know

from ‘P’ to ‘S’ ? ? o Sﬂ
(1y 10 gl\;\p\/ 3‘3
2) 20 %" \0
(3) 30 2 "3‘0
(4) 16 -
(5)  Not attempted

Letters and their number codes are given in the

following table :
Letter E|X|P I M|R|S|T
NumberCode | 1 | 2 | 4 | 7|1 9| 3 | 5

You have to find out which of the alternatives
has the correct coded form of ‘EMRS’.

(1) 1793

b
(2) 1973 v A
(3) 1925 ‘ WS
(4) 1937 L q,g'y",
(5)  Not attempted

If MANGO is coded as 13114715 in a certain code
language, then how will FIGHT be coded in that
same code language ?

(1) 6968197 (1) 696819
(2) 697819 (2) 697819
(3~ 697820 (3) 697820
(4) 697620 (4) 697620
(5) I T8I &1 =TEd (5)  Not attempted
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ﬁ;ﬁfwma’ﬁ'ﬁ.‘aﬁm
: m_maﬁaﬂ(n"*n)mmt_

(1)~3

@)5 65

P 12

(4) 18

(5) IR 7@ 37 =TEd

32, UH wEH N TH GCA H 25 F TN F B way myy |
Tt @, I T B 52 F o0 H A Rl gy

gwm,aﬂgwmﬂ324arﬁa;m§m,§m

32.

8reatest number jg (n3 _ n) always divisible ?

(1) 3 i’),j(BJM ,T'Lr'\___’ |
(2 s .
-\ 3 A
@ 12 R Ol
U

4) 18 A % 5 ¢

3> AN
(5)  Not attempted "L .

A boy was asked to multiply a certain number by
25. He, by mistake, multiplied the number by 52
and got the Product which was greater than the

o gTe g& T oft - correct product by 324, The number to be
JB 19 multiplied was - C)L+1 ; -311"\4
) 15 (1) 12 ‘Fls (Xy -~
3 3) " 25 2 15 7. SR 5 %
" 3) 25 "
(5) I & 21 91E P
(5)° Not attempted
R [pl, p & WA p F W T2 quife
@ p% ; P T3 EI% H 33. If [p] denotes the greatest integer less an or
! ’ equal to p, then /‘\( x < 3\
1 2 9
-=[+ 42| +[2] 1 2 it
2] [ 5] { 2] * [4'5 = >
s27e WY
T B is equal to : ‘lﬂYQ/ \
2% <A
(1) 3 (1) 3 &l X /5 (Q
2) 4 2 4 2 w3 o
3 5 3 5 3% E o
4) 6 4 6 \° ¥ |
(5) I A 1 =R (5)  Not attempted b
34. y, (x +3) % GUHYA & qq y=88Vax=1% /34 yvariesdirectlyproportionalto(x+3)andy=8 :
x=2a;f‘aqyaﬂmm§? whenx=1.Whatisthevalueofywhenx:Z? ;
v M
1 6 AT W
(1) 6 !, ' 2° ¥ :
@ 10 (2) 10 ¢ M ]
2
3) 12 = 12 : ‘i
4) 16 4 16 |
i
(5) IR AT =1 =R (5) Not attempted kﬁ
4
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-ﬁ@ﬂlfa,,brcr.‘.l'e'f‘wmgﬁﬁabzl .
GF : 1 ,|85. Six numbers a, b, ¢, d, e, f are such that b

‘1 3.6 de=2Taef= = 2 1
po= =»cd =6 | (ad : be : ¢f _1 d=6de= 1
2 oall _-) be 2,0 e =2 and ef = E-What is the

aﬂmm?? \é’ ll value of (ad : be : ¢0) ?
(1) 4:8:27 ) '.)— 2 - (1) 4:3:27
I 2 6:1:9 = g (2) 6:1:9 3,)
IJ‘ 3 8:9:9 2 ‘/L;,DC;L 3 8:9:9 &w’:)[\r\% ﬂ,‘.\)
i4 @) 72:1:9 Aﬂc‘ (4) 72:1:9 Q\’:‘_ .
.‘ &) 3 ¥ et (5) Not attempted V\(v;;‘ l)(‘n“)
. ‘ _"Q@"‘P (,f-'}
o6, T TTE O B G A 15 B, mer pa | .
s d 15w g A 1 B W, st 5 tm:; f;heir‘mean 15. increased by 2. When 1 is included
ol | o i ot el F e in thlf; ne.w list, the mean of the numbers in the
o et B ‘.I’Mu new list is .decrease.fd‘ by 1'. How many n{u}mbers
o P were there in the originallist ? Bt
@ 5 b X 1 4
(3) 6 94 (2) 5
4) 8 &
(5) IR ’a:rl a1Ed ) (4) 8
(5) Not attempted

37. UH AR AT AW & 75% @ FAT & | IFH
37. A man spends 75% of his income. His income is

e 20% g S 8 @ F 3 @d # it 10% H
TSR L A1 & | I w=a | agad & increased by 20% and he thus also increased his
1 10% \r}D ) expenditure by 10%. His savings increased by :
(1) 10%
@) 25% L e -~ d ) < 4
1 ) (2)  25% 7 %2
(3) 37=% 3
2 S F T 371% .
(4) 50% 17 2
(5) IR AT &1 =nEd 4) 50%
(5) Not attempted
38. A& st F1 5%, B H AW F 15% & a2
sit B #1 WA 1 10%, C & e % 20% % |38. 5% income of A is equal to 15% income of B and
st 2 | 3fe CH 3mEA & 2,000 2, d A BaaC 10% income of B is equal to 20% income of C.
&1 et &1 TIRA (T ﬁ) 2 \)/ If income of C is ¥ 2,000, then the sum of the
v"“E? < 78 incomes (in ¥)of A, Band Cis:
(1) 6,000 p B o
|5 @ 6000 c 1
- (2) 9,000 \{'1’0’0 uoﬁ"" (2) 9,000 ¥ ;
(3) 12,000 ,Sf “v/'/ﬁ} (3) 12,000 lo-l- = 2071 -

(4) 18,000 i (4) 18,000 U"TP

(5) It TE Z1 areEd (5) Not attempted
7% @14 % fero ¥4 | SPACE FOR ROUGH WORK Hj h
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R

£ 83: 2% 3N (39, TR, ratio of length and breadth of a rectangle g

39. wH amaa #t ward aen werd Ll ;rtm o %1 FTE B | 3:2 respectively. The ratio of its perimeter and
2 s g gRwTy qur &Fea 4 6 ¢ area is f . 9. Th i"”"adf}} of the rectangle (in
e ) & Mmetreg) ig . :
40 6 (2) 8 o © I s
@ 8 @) 9 > W %
3 9 ' >
() = 4 13 : 9/"4,5’
((;I) S (5) ,Not attempted
40. A can do 5 work in 15 days and B in 20 d If
It FE H 20 g i ¥ ays.
40. AUwE wH #) 15 RA A T-T!IT B 70 %4 B 4 o they work on it together for 4 days, then the
T FHat § | 7R 37 A1 fra fraction of work that is left, is - ‘9._ S+ '9)
wmg,ﬁmwmmaﬁﬁ @ a1 8 2 ) l ‘.S\L'.‘.M'v;
@ 1 ' e
4 1 Ave — EX R PR
@ - o ,\? 2o - G %
” (3) i \ H-fo’r’ﬁ, Y M - 2‘
i 15 FTo 3o "tan
L aliT ko Jz 6%
. @ 5 b 4459% n
C - 15 — }EE
(5) I 98 2 MR (5) Not attempted Ay %;

41. IR B vl w 71% s =1 & 15 arE 1|41l If the simple mterest On a certain sum for
2 P
15 months at 7 % per annum exceeds the
mmwm.axtﬂawﬁrmlzi%aﬁmamsm 2

5 simple interest on the same sum for 8 months at
¥ 8 1§ T 3250 % ar X )’Ly 12%% Per annum, by ¥ 3250, then the sum (in

3 ‘} té ) e
| Yo T)is: +
(1) 3,000 )}1}_\ / il —
(2) 3,060 7@'\ % (1) 3,000 :

" r: 9 (2) 3,060 u4d £ )
(4) 3,250 'l/ 2 e (3) 3,120

NG ' ¥

: * 817, @ 3250 )-7.

(5) I 78 21 =rEy /(% A e

y(m Not attempted
42. UEER T 10% 99 & iz # 3. a-cf( T15% v 42.  Oranges are bought at 5 for T 10 and sold a.

WA T | AN # - 6 for ¥ 15. The profit percent is :
fo— &
(1) 25% afPa . (D 25% 1
(2)  35% T4 @ 35% r c!-‘—" .
—
3) 40% V@) 40% T Lo
(4)  50% (4)  50% Iy, D
(5) I 7# 2wy (5) Not attempted Y L 2~
$ .
K v, P 5
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' «qq;ﬂ:ﬁ 24"“-@- #i ofa @ o1 W@ R 3 A ufd [48. A pus moving at a speed of 24 m/s begins to slow
mﬁnﬁﬂlﬁ‘ﬁmmﬂ?ﬁt | %1 B vEd ataratqofiim/seachsecond.Howfardoesitgo

a8 feaeht g0 7@ w A ? before stopping ?
A4
a 487 s 5/‘;;‘ (1) 48m
_ o
@ 607 . (2 60m
®. 727 3) 72m
4) 967 W) ‘om
L (5) I 31 ed (5) Not attempted

| 44 T U T A g0 § 5 T e Rrd 98 fow 51|44, A milkman mixed some water with milk to gain

A WA R 256% T A | o F s BIcil 95% by selling the mixture at the cost price. The
m@ﬁm i 3135”\"'3 : éﬂi ;j;( ratio of water and milk, respectively, in the
(1) 5:4 ,g,-;/')’ mixture is :

U2 4:5 1) 5:4
3 1:5 2 4:5
i @ 1:5
(5) I T T e 4) 1:4

(5) Not attempted

45. A3 T 85,000 M F UH R I B | FB

REEIG| SR 1
T T 42,500 5 TRRAY % 45. A began a business with ¥ 85,000. He was joined

T | 3R 7 % o A g '3-':} ® 7 H el afterwards by B with ¥ 42,500. For how much
o, @ B febe @ % o HISTeR T ? period does B join, if the profits at the end of the
(1) 4°M year are divided in the ratio 3.: 1?
(2) 5 months
(3) 6HH
(3) 6 months
(4) 8HME
%j_""h" X X (4) 8 months
L2-x5) 3 FE & =med

(5) Not attempted
ARAM/A3/Page 13 TF &4 & foT0 ¥4 / SPACE FOR ROUGH WORK
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the fo Owjng pa.?sage f ; -
Read

questions 46, 47 and 48. .

i a well
Stree in India 18 : ' ;
t theatre 1n , " g
' jent art form. Despite the pmhfﬂllﬁ-.on
anc

entertainment . and‘
theatre Cﬂntvinues to

-established

means of
street

modern
communication,
flourish in India.

Street theatre as a channel of communication hag
for centuries been propagating 1-'e‘f0rm‘s by -
highlighting social, economic and political isgyeg
present in the society. Unlike in the olden days,
its performance is no longer restricted to villages
or small localities of the city. They create or raise
awareness over a particular issue of public
importance.

46. Street theatre usually
public importance.

(1)
(2)
43)
(4)
(5)

is distanced
is performed
deals

does not deal

Not attempted

47. Modern
communication
(1)
(2)
(3)
. (4)
(5)

means of entertainment

——— street theatre.
does affect

does not affect
helps popularise
helps establish
Not attempted

48. In olden days, street theatre =
or small localities of the city.
(1)

iz

(3)

was restricted to
was not restricted to
was opened to
entertained

Not attempted

with issues of

and

villages

49.  Pick out the synonym of the underlined word
the following sentence :

The child longed for the mother’s love.

(1) craved
(2)  shouteq
(3)  fen
(4)  refused
(5)  Not attempted
50.  Pick out the antonym of the underlined word in
the following sentence,
A little learning is a dangerous thing,
W7 innocuous
(2)  devilish
(3)  plain
(4)  smooth
(5)  Not attempted
51.  Pick out the correctly spelt word.
(1) " privelege
\(2)  familiar
(3)  usualy
(4)  nuisence
(5)  Not attempted
52.  Pick out the correctly spelt word.
(1) intutionalize
¥ institutionalize
(3)  instutionalice
(4) intitutionalize
(5) Not attempted
53. Pick out the correctly spelt word.
(1) sugestion
27 suggestion
(3)  suggesstion
(4)  suggession
(5) Not attempted

ARAM/A3/Page 14
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Choose the correct passive voice form of the

following sentence.

Bring a cup of coffee.

J,r)’ You are requested to bring a cup of coffee.
(2) Let a cup of coffee was brdught, o
(3) Let a cup of coffee be brought.

(4) He requests you to bring a cup of coffee
(5) Not attempted

55. Rearrange the following parts of 4 sentence
labelled as PQRS to make g meaningful

sentence.

power to work is a blessing and

P

Q. let us realize that the pri{rilege_
R. the love of work is success

S. ‘

to work is a gift, thé .

(1) SRPQ ~f
2) QSPRv"
(3) PSRQY
(4) QRPSH

(5) Not attempted

56. Pick out the part of the following sentence which
has an error. If there is no error, your answer is

(4).
One of the state in which
A
Satyagraha was offered was Rajkot
B
where he spent his youth.
C
1) A
v B
3 C

4) No error

5 Not attempted

57.

A48T

ol
EE
Find out the correct indirect speech of the
following sentence.
She said to her father, “Will you give me
sweets” ?
(1) She requested her father to give her sweets.
(2) She requested her father if she would give
her sweets. '
She asked her father if he would give he.r
sweets.' . ‘
(4) She has asked her father if he would give
her sweets.
(5) Not attempted
Fill in the blank with the suitable preposition.

58.

W)

red hair is my brother.

The boy

m of

(2) for

(3)  with

(4) from

(5) Not attempted

Choose" the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer is (4).

Don'’t judge each day by the hmest you rz‘eap‘but\
by the seeds that are plant_irvlg. ' o

when you plant 4
(2)
(3) that will be plant
(4) No improvement
(5)  Not attempted

that you plant

In the following sentence, a word is underlined.
Beneath the sentence, four different ways of
phrasing the underlined word are indicated.
Choose the best alternative among' the four.
“Despite losing a lot of money in the stock market
crash, Suresh remained unphased.” )

(1) unfazed .

(2)  unfaced
(3)  unphazed
(4) unfizzled

(5) Not attempted

ARAM’JAafPage 15
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aﬁw*mﬂﬁml 65. ‘“wuwe wwed vz o 3fad foaum R
1. Frferfa fawedi

F- S o ) Wt & nifes
(2 I P
o 3 9t wfw @
(4) I, R
(5) I A€l 21 Ed ®) It 3 wmed
62. ‘s geATu dla ¥ 9 fafean gu m W@ | 66. ﬁufﬁﬁaaqlﬁﬁﬁﬁmgmwwm%ﬁml

qETe (1) sfzat 0 am 6 @0 awen — sfaaf

(1) 3798 & =79 9 A A1
2) fafsmm =t @a 3 91 g1 ' & m:ﬁé T OB EW A aren ST,

(3) fafewn &t @a g4 27
W FEE §d I T3 g@anE
(5) I FE 291 =18

(3) W%WEﬁITIﬁ]__ggq;
4 mﬁaﬁ{mﬁw%zﬁm
(5) BT HE 241 =y

63. SSESHI, WEWIM IR WAYANI W2 | b % Fa

YN & UTg F1 G4 gy w2 9 . § E'g'a,%mWWWWW?ﬂF
(1) #gw u1g IR
w2 TTUde Ug Q) =émfa
) et (2)  wh
(4) 3T uTq -,
) : (4) g
(5) I AE 291 91’
(5) IR & 21 =@
64. ‘Tourdl 3 91 #1 g ) e
, i 68. fraffga fasedi d @ adft 6 3fe ¥ wg wee @
39S HUTO a1eg fRETT &1 e 2 2
T Hifdu |

(1) WY FHATHNE GHT 95 ) A
(2) YU FHdThTe YR Ja4 @) e
(3)  ¥YIT FHhNF YR diH (3) ardafae

vy B
(4) HYHY FHFHNF TR0 qH \br  HTEIE *'\'”_‘{

4]
o e sl B (5) IR A 21 =@ (-3’.(‘42 -

et

ARAM/A3/Page 16 7 @7 % feTu TUTA | SPACE FOR ROUGH WORK
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g 4)

e it fawa & onft st R 17 e § Ywifea
o ﬂmmﬁmaﬁr&m

(1) T I
Feqq I9E

ferdeft 3wt
m,maﬂtﬁéﬂﬁm

Fer 7€ A1 TR

| 2)
' @

(5)

72. fofafies fwedt § 8 gem & gafaa fBwss &
Tra i |

Y 3F = TEUI, HIRA, qau
3 = =9, M, AEH
a1é = e, =g, frard
3o = afgat, firn, gfewaren
Few A€ 21 =

(2)
(3)
(4)

(5)

Geq’ § Fa-d wf R ?

70. ﬁﬂ%ﬁﬂﬁ@mﬁwﬁmamgﬁﬁﬂm
sereew gafea 7@ 2 7 o g
(1) AEER — Gen S # T AR
o freft iz (2) fomi.
(2) ®IF __ “frey gfty s gHAR G @&
gga-angwaiﬂl (4 I
fgen @ @ fawe # OB, (5) 3T &1 ed
freae o= et @7
o = RN ot 3 @ i v S 7 R 2
(4) 9 —‘gaﬁaﬁ@aﬁm,azﬁr, ;
sfiramdt, S 1 (1) SRS
2
(5) I AET &A1 =med @ g
(3) ferem
(4) HE
71. ﬁtm-ﬁaﬁgﬁﬁsjgmwwaﬁml . el R
vl ﬁﬁﬁa,a’rwéﬁwé,mﬁww
fra @2 |
(2) wmﬁ@m%,wwwm 75, SR mr-f ﬁ@%’am%ft?ﬁm%
@ e oy e 1 1 s 39 e R IR
{S)ﬁﬁfﬁﬁ?ﬁﬁ,ﬁﬁﬂﬂ?vmﬁw W TR
fora @i 2 | .
(2) Tia
TS
(4)ﬁﬁﬁﬂ?ﬁ,®éﬁﬁ1%, T Eh . wen
fom @ g |
(4) WEHT
(5) 3w @l & =Ed
(5) IR A& A AEd
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: -
: o w7t @ @R (76, Who among the following perﬁo-naliﬁes from
76, frefafaa 4 & s % F faat T 2 Haryana received the Padma Shri in 2022 in the
5 g & 2022 %1 T S0’ EHHE T field of Social Work ?
) Hqift @ HaH . (1) Moti Lal Madan
- () HRs F9E . (2)  Neeraj Chopra
(3) 3H FHE aieft (3)  Om Prakash Gandhi
(4) TAZ TR (4) Raghuvendra Tanwar :
(5) utTE & =red _ (5) Not attempted 1
77. hamn & M T fifer gfern w1 S b b 77. Nirmal Gulia from Haryana is associated with |
2? which sport ? :
(1 (1)  Hockey |
(2) FefRs/Fw ‘ (2) Gymnastics |
@ @ (3)  Judo
(4) #eae (4) Handball '
(5) I AL &A1 9TEd (5) Not attempted f
78. = H 8 FF FhEmwn eReT & W @ 9 9§ 2 78. Who among the following is known as the g
(1) =L 37ef ‘Haryana Hurricane’ ? :
(2) faorg fEm (1) Mansoor Ali
(3) gufist R - (2)  Vijender Singh ‘
(4) FfU= 29 (3)  Sushil Kumar

(4) Kapil Dev
(5) Not attempted

(5) I TET A7 =@TEA
79. ﬁﬁm#fﬁaﬁwaﬁﬁwm’%mﬂiﬂ

79. Which dance form of Haryana is also known as

=)
o ?ﬂFﬂ 5 ‘Haryanavi Gidda’ ?
M) | (1) Swang
(2 (2) Gugga
(3) ¥ (3) Jhumar
(4) TS _ (4) Ratwai
(5) I I <A1 |TEd (5) Not attempted

80. T HaHl 1 ATER, g gl o AT ATl 80. Gugga Naumi festival is celebrated all over

® Haryana in .
) Il F =g A (1) the lunar month of Kartik
(2) W@ % HzHrE d (2) the lunar month of Bhadon
(3) 19U & <ZHE b " (3) the lunar month of Shravan
(4) WA & FZHTE § (4) the lunar month of Phalgun
(5) I & A1 ATEd (5) Not attempted
ARAM/A3/Page 18 1% T4 & fo1u Tgr ) SPACE FOR ROUGH WORK
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in the

with

‘he

e

82.

(5) I FE &1 9

e @ e ‘G wfog g7 = w s
ﬂ@“ﬁmmmmmay

(1) #ef F =R W

(2) FTA®FITEE
87 faam F sam w

(4) ®@EAWEY

(5) I TE 21 =EA

g d@% 9w 3 9o = sz v §
gfamm 7= F1 ez & Tatfua e 2 |

(1) % 79

(2) wEfET=

(3) EfE

(4) HEF

(5)
frmn § gfafee 9df €1 v ¥ faaw & fag 1923
§ waa-umde ¥ @9 fooe R TR @ o
mmm%r.;

(1) @ g™

(2) dfzd FFwm ymi

3) HTETQTW

(4) EHW@FI

(5)
el T g we A TE T
(1) 199ai, 2005
(2) 19, 2006
(3) 149, 2005

4 137, 2006
(5) 3 A€l A1 ATEd

81.

B2,

85.

famous for ‘Surahi’ (a slim

Which district is

necked pitcher) in Haryana ?
(1) Gurugram

{2) Rewarl

(3) Jhajjar

(4) Fatehabad

(5) Not attempted

asion is ‘Khoriya', the famous dance

-hi c
s mmonly performed ?

form of Haryana most c0

(1) During Holi

(2) On child birth
(3) On the occasion of marriage
(4) In the month of Saawan

(5) Not attempted

The famous writer Dharnidhar in his book

Akhand Prakash addressed the State of Haryana
with the word

(1) KurudJangal
(2)¢ Haritanak
(3). Haribanka
(4) Aryana

(5) Not attempted

Who founded the ‘Zamindar League’ along with
Fazl-i-Hussain in 1923 to spread the reach of the
Unionist Party in Haryana ?

(1) Rao Tularam

(2) Pandit Nekiram Sharma
(3) Sir Chhotu Ram

(4) Abdul Ghaffar Khan

(5) Not attempted

“Ladli Social Security Allowance Scheme” was
launched on :

(1) 15t January, 2005
(2) 15t March, 2006
(3) 15t March, 2005
(4) 15 January, 2006
(5) Not attempted
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(5) SR @I &A1 =TEd

88. ERETON S HaT AN N TAG FE 7 ?

(1) 1965
£2) 1966
(3) 1967
(4) 1968

(5) I FE &1 =TEd

89. & IS =W i & frg e A fem 2 9

(1) wigERE
(3) T ("am)
(4) TEgTE

(5) I qE1 1 =rEd

(1) 70°28 & 77°36'
\AZ) 74°27'8" ¥ 77°36'5"

(3) 77°28' H 84°38'

(4) 71°28' ¥ 77°36'

(5) IR TEI A1 e

88.

89.

90.

Panjokhra Sahib Gurudwara (Ambala) is
dedicated to the memory of

(1) Guru Hargobind

(2) Guru Tegh Bahadur

(3)  Guru Gobind Singh

(4)  Guru Sri Harkishan Sahib ji

(5)  Not attempted

Who is the first Lokayukta of Haryana ?
(1)  Ranjeet Kumar

(2) Nawal Kishore Agarwal

(3)  Pritam Pal

(4) Babu Parmanand

(5) Not attempted

When was the Haryana

Commission established ?
(1) 1965

(2) 1966

(3) 1967

(4) 1968

(5). Not attempted

Public Service

Nahar Wildlife Sanctuary is situated in which
district of Haryana ?

(1) TFaridabad

(2) Rewari

(3) Nuh (Mewat)
(4) Mahendragarh
(5) Not attempted

The East longitude extent of Haryana is :
(1) 70°28 to 77°36'

(2) 74°27'8" to 77°36'5"

(3) T7°28' to 84°38'

(4) T71°28' to 77°36'

(5) Not attempted
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91.

B

'R 1 Fa uqft w1 fee sfem s % it

20

91. What percentage of the total land in Haryana
TR ? comes under agriculture ?
(1) 70% (1) 70%
(2) 76% (2) 76%
3 77% (3) 77%
(4) 81% 4) B1%
(5) I FEl A =-ER (h) Not attempted
92, wfEon § saeht 6t grTfEa} = a8 $p a2 92. The highest elevated area of the Aravalli hills in
(1) v i gmfzat (wreft fem) . Ai Haryana is
A2) wr DA (iR tﬁa;) (1) Dhosi Hills
(3) fegu & gaTfEat (frqm ﬁ“\'ﬁq) (2) Karoh Peak
(4) wamE #i grTfEat (Yama %FF) (3)  Tipra Hills
(5) I A& T ==y (4)  Mewat Hills
(5) Not attempted
= ‘T?a ;”T:q:m S W wean A w22 | g Where is the Rajiv: Gandhi Renewable Energy
Park situated in Haryana ?
2y (1) Panipat
(3)  wigmamr (2) Gurugram
(4)  ®HfiTE (3) Faridabad
(5) I T8 1 =9Ea (4) Sonipat
(5) Not attempted
94. THTH] F JHENW &I - W faew, wfmon F fra
e d e ? 94. Morni Hills, a tourist attraction point, is situated
T W in which district of Haryana ?
@ e (1) Pjanchkula
: (2) Jind
R SN (3) Ambala
4 weigat (4)  Charkhi Dadri
(5) IR &l o1 = (5) Not attempted
95. efmon T4 % J&el 3 U (mﬁ) 1 T 95. The first Grain ATM (Annapurti) of Haryana
fopg fa 1 88 7 State has been set up in which district ?
W grgd (1) Sonipat
(2) TEA™ (2)  Gurugram
(3) FHAAT (3)  Yamunanagar
(4) d=Eel (4) Panchkula
(5) I A &A1 ATEd (5) Not attempted
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W

B v % 0790, What percontage of ite PR ),
it R TR ‘tmmﬂz . 4 beedr allocated towards Ag.ncultu.re in H an,
faefiq arf 2022 - 23 e e iR State Budget for the financial year 2022 - 202,

(1) 62%
(2) 579
(3) 439
okt g ' 4 98%
(8) 43%
(5) Not attempted
4) 98%
(5) I T 1 W > e R 97. What is the total number of registereq Atg)
97. wfamn # Gefiga ew ar 5 9 F Service Centres in Haryana ?
“ia'y (1) 16,552
1) 16,552 (2) 17,552
(2) 17,662 (3) 18,552
(3) 18,552 (4) 20,552
(4) 20,552 (5)  Not attempted
(5) I T & wER

in

. [98. How many  Sub-Treasuries are there
98. wfEmn s wJem (2021 - 22) % 38R Bfamn §

Haryana according to the Haryana Economic
o1 A I9-Fwmm § 0 Survey (2021 - 22) 2
(1) 23 ' (1) 23
(2) 82 (2) 82
8 @) 92 @ 92
, 4 74 4) 74
- (6) I & &1 9mg (5) Not attempted
99. arrﬁawém(zozo_zl)%m‘sﬁvmﬁﬁﬁgg What is th " I FH
e s s foh 47 a5 ber Beamormi Survey pang oo ° Harvn
(1) <1,85,630 (1) ¥ 1,85,630 |
(2) %1,90,950 (2) % 1,90,950

J
(3) ¥ 290,630 (3) ¥ 2090,630

(4) % 235707
(5)  Not attempted

(4) ¥ 235707
(5) I T Z 9y

100. 9HT 4 ‘S g=ad, a4 TEIHA” F YT Fray

100. “Betj Bachao, Betj Padhao” was launched i
FALU G 0 ) Panipat by
(1) o 5iz 0 (1) Shri Narendra Modi
2T o mEr e T (2)  Shri Manohar 1,5] Khattar
(3) i TR far Hied (3)  Shrj Kaptan Singh Solanki
(4)  ff w1y Fifge

(4)  Shri Ram Nath Kovind
R

(5)  Not attempteq
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